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Question No. 1
Read the following information carefully and answer the question given below.

Eight friends— A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. Each one of
them likes different brands of television—Onida, Sony, Samsung, Micromax, TCL, LG, Toshiba and Sansui,
but not necessarily in the same order.

A sits third to the right of the person who likes Sansui. A does not like Samsung. E is not an immediate
neighbour of H. C sits on the immediate right of the person who likes Samsung. Neither A nor H likes TCL or
a Sony. The person who likes TCL is not an immediate neighbour of the person who likes Sansui. The person
who likes Onida sits second to the left of E. The person who likes Onida is an immediate neighbour of the
both persons who like LG and Toshiba. Person who likes Toshiba sits third to the right of B. B does not like
TCL. F is not an immediate neighbour of A. G is not an immediate neighbour of the person who likes Onida.
Only two people sit between the person who likes Toshiba and H. The persons who like TCL and the Sony
are immediate neighbours of each other.

Which of the following brands of television is liked by H?
A)Toshiba B)Onida
C)Sansui D)Sony
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INGUEEL B) 3ffarsr
C)TGE D)t

Answer Key : B Your Response : Not Answered
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Question No. 2
115% is equal to which of these fractions?
A)20/3 B)23/20
C)20/23 D)3/20

115% So1df ¥ TF8 st & awet &7

A)20/3 B)23/20
€)20/23 D)3/20
Answer Key : B Your Response : B (Correct)

Question No. 3
Seven years ago, the ratio of the ages of Ajith and Ganesh was 5 : 7. If the product of their present ages is
616, find the ratio of their present age.
A)12:13 B)11: 14
C)15:17 D)17 : 15

W 9§ Ugd, 3ol A IrOrer B A F AU 5 : 7 A1 G SARN TAAT HY F IUADS 616 §, O IoThT
AT 3T HT AT A Y

A12:13 B)11: 14
C)15: 17 D)17 : 15
Answer Key : B Your Response : Not Answered

Question No. 4
Which of the following hormones stimulates milk production after child birth?
A)Prolactin B)Estrogen
C)Progestin D)Androgen

f=fof@a F & Fia @ gl 9= F Fo & 9IC qY oot T ABRAT B Scciiord Fl 87

INEIGIEG] B)TEgIat
C)wrifEe D)Togisi
Answer Key : A Your Response : A (Correct)

Question No. 5
The chemical formula K>SO4 represents-

A)Potassium sulphate B)Potassium chloride
C)Potassium nitrate D)Aluminium sulphate
THRARF FT KSO4, AT e g

A)TTeTIH Hothe B)diciad FailTss
C)urefEs A D)ueafATATH Tothe

Answer Key : A Your Response: A (Correct)

Question No. 6
Two buses start from the opposite points of a main road, 150 km apart. The first bus runs for 25 km and takes
a right turn and then runs for 15 km. It, then tumns left and runs for another 25 km and takes the direction back
to reach the main road. In the meantime, due to minor breakdown, the other bus has run only 35 km along the
main road. What would be the distance between the two buses at this point?

A)85 km B)80 km Top



C)65 km D)75 km

o &, 150 et fr qff W Rud o Rigyt & v gy #r 3N o Y& A &1 e a@ 25 Fd Tordh @
3R &% AR A3 § AN T 15 Reel Torchh &1 T8, O a1 30 775l & 3 e 25 fonelr Terch & 3l e
maﬁqgaﬁa?mmaﬁrm:ﬁﬂ%lwaﬁa,maﬁm%w.qmmﬁwmwmas
ferelr =elr §1 5w g W At st & drg & gl F7 gelie

A)85 frelr B)80 fre
C)65 s D)75 Tl
Answer Key: C Your Response : D (Wrong)

Question No. 7
A basic solution changes the colour of turmeric indicator from-

A)Yellow to red B)Yellow to black

C)Yellow to blue D)Yellow to green

&Y eae, gedr que & T # # dea & gl

NSRRI B)UTal T FTal

)it d e D)UY

Answer Key : A Your Response : Not Answered

Question No. 8
Find the ODD one out from the given options.
A)728 B)346
C)125 D)215

few o Rwedt & & T g4

A)728 B)346
0)125 D)215
Answer Key: C Your Response : C (Correct)

Question No. 9
Which Indian state has Agartala as its capital?
A)Mizoram B)Manipur
C)Tripura D)Nagaland

3PRdeT, P AT TS fF TSUET 87

A) SR B) AR
SIEL] D)ATaTTels
Answer Key : C Your Response : C (Correct)

Question No. 10
Which hormone protects the blood glucose from going too low?
A)lnsulin B)Oxytocin

C)Vasopressin D)Glucagon

ﬂammﬁamaﬁmﬁﬁamm#mm
ASg faa B) e @
C et D)Te PR

[N

Top



Answer Key : D Your Response : D (Correct)

Question No. 11
The white powder formed when magnesium ribbon burns is-
A)Magnesium carbonate B)Magnesium hydroxide
C)Magnesium sulphate D)Magnesium oxide

FHNRTAE FId & ol U Fefor dTell Hihe, 93T FAT 81T 87

A)HTANRTa FEfae B)&vafTH gresiadgs
C)#HTaNTa Fethe D)HTANRIH 3ifeFarss
Answer Key : D Your Response : A (Wrong)

Question No. 12
In a certain code, 'CORNER' is written as 'GSVRIV'. How can 'CENTRAL' be written in that code?

A)GIRYVEP B)GIRXEVP

C)GIRXVEP D)GIRXVPE MyEducationWire
T ARG gesmsT #, 'CORNER' &I 'GSVRIV' for@r Siidm &1 367 Hedmr # 'CENTRAL'H &3 for@r sem?
A)GIRYVEP B)GIRXEVP

C)GIRXVEP D)GIRXVPE

Answer Key : C Your Response : C (Correct)

Question No. 13
Which hormone is released during emergency situation?
A)Adrenaline B)Norepinephrine
C)Corticotropin D)Cortisol

ATaFeN Uy & e #ia a1 gHfa 3cafaa gar &7

A)ufgaelte B) AU
C)ifeapreriaat D)aifeHTer
Answer Key : A Your Response : A (Correct)

Question No. 14
When was the first battle of Panipat fought?
A)1556 B)1661
C)1761 D)1526

tn:ﬂﬂ?rarqmgzﬁragrwm‘?

A)1556 B)1661
C)1761 D)1526
Answer Key : D Your Response : D (Correct)

Question No. 15
The radius of a circle increases by 5%. What is the percentage increase in its area?

A)10.5% B)10.25%
C)25% D)21.5%
el gea B Brsr 7 5% #ir gie Fr Srch &1 585 Saher & g arelr gfaera gfg i e Top

A)10.5% B)10.25%



C)25% D)21.5%

Answer Key : B Your Response : B (Correct)
Question No. 16

Which of the following is an alloy of copper and zinc?

A)Solder B)Brass

C) Alnico D)Bronze

fAeafaf@a & & sl o dier AR ST Fr Feeng 2

A)Frest B)Uldd
C)uetiaent D)l
Answer Key : B Your Response : B (Correct)

Question No. 17
Which of the following will best complete the relationship given below?

BFIJ : DHKL :: LOQT : ?
ANVSQ B)NQSV
C)NSQV D)NQVS

i@ # & wiq A Bu v deu H @ a@F @ qof Hem?

BFIJ : DHKL :: LOQT : ?

ANVSQ B)NQSV
C)NSQV D)NQVS
Answer Key : B Your Response : B (Correct)

Question No. 18
Which of the following is the hardest substance known?
A)Diamond B)Buckministerfullerene
C)Graphite D)lron

AT@d § & Fid G 3T dF A9 FORGH Terd &7

A)ERT B) SR =¥y Horlla
C)Iwrse D) TiieT
Answer Key : A Your Response : A (Correct)

Question No. 19
What is the thrust on unit area called?
A)Volume B)Surface area

C) Density D)Pressure

SHE &% U WUNG(thrust) I AT &gl AT &7
INEIRGE B)U S5 aTFthel

C)ueca D) T Top



Answer Key : D Your Response : D (Correct)

Question No. 20
Find the ODD one out from the given options.

AWV B)S
C)X D)T

R M Rt 3 ¥ 3T F G

AV B)S

OX D)T

Answer Key : B Your Response : B (Correct)

Question No. 21
1 is placed to the west of 2, and 3 is placed to the south of 1. What is the direction of 2 with respect to 37
A)East B)South east
\C)North east D)South

1 a2 & qi¥ad & @ a7 &, 3 3 & 1 & ST & w@r =7 &1 3 & «dey 2 fir few w=ar g7

ATE B)afaror wd,
C)3caR ud D)gfaior
Answer Key : C Your Response : C (Correct)

Question No. 22
What is the concept of spherical lenses?

A)Radiation of light B)Light refraction
C)Scattering of light D)Light reflection

T o & TR F=4r 8?2

A)YehTer &I fafeRyor B)Wehrel &1 3ddciel

C)9RTeT &I FehToTel D)JSRIr & TRTdcTal

Answer Key : B Your Response : Not Answered

Question No. 23
Which of the following cities is nicknamed as 'City of Joy' in India?
A)Shimla B)Chennai
C)Mumbai D)Kolkata

9T & Afaf@a & & fBF9 a8t & 39w "R 3w A g2

A) Rrerem B)dTS
C)F oOF D) IdeTal
Answer Key : D Your Response : A (Wrong)

Question No. 24
Rs.16500 is split into two fixed deposits for 2 years at 10% and 12% Simple Interest. If the total interest
received from the deposits is Rs.3620, how much was invested in the 12% scheme?
A)Rs.8500 B)Rs.10500
C)Rs.8000 D)Rs.10000

Top



%.16500 &1 & s & fFfoa T 10% 3R 12% TEReT saref W 2 oY & o g™ st § @R
o e &1 af swr o g & e Fo sarer $.3620 §, 12% arelr Asten F fraet afr AR &
T A7

A)F.8500 B)%.10500
C)%.8000 D)%.10000
Answer Key : C Your Response : C (Correct)

Question No. 25
Shubha Mudgal is associated with-

A)Classical dance B)Sports

C)Hindustani classical music D)Mural painting

P A, & wdfee ¥

A) AT AT B)l

C)fexart e weha D)f&feT fRrsor

Answer Key : C Your Response : Not Answered

Question No. 26
The refractive indices of four substances A, B, C and D are 1.33,1.47, 1.71 and 1.65 respectively. In which
substance is the speed of light maximum?
A)B B)C
C)D D)A

9] qerdf, A, B, C 3R D & 3uaddis sAw: 1.33, 1.47, 1.71 3R 1.65 & H gard & vsrer $r =@mer
HHaH giar 87

A)B B)C
C)D D)A
Answer Key : D Your Response : A (Wrong)

Question No. 27
Six bells toll in intervals of 2, 4, 6, 8, 10 and 12 seconds respectively. If all start tolling together, how many
times will they toll together in 30 minutes?
A)8 B)16
C)15 D)4

©: HieAT HAW: 2, 4, 6, 8, 10 IR 12 Fhs & Ul H woidl &1 I M v wry a5 Y& HY, dr 3 30
e 3 fhaell et Wy oii?

A)8 B)16
0)15 D)4
Answer Key : B Your Response : B (Correct)

Question No. 28
The Australian cricketer Ricky Ponting is also known as-

A)Rickster B)Ponter
C)Punter D)Ponts
s e e R diféer #r it =Fgr ST B

A)ReFeex B)uiwex Top



C)g=eX D)qicH
Answer Key : C Your Response : D (Wrong)

Question No. 29
Ravi travelled 4 km straight towards south. He then turned left and travelled 6 km straight; he again tured
right and travelled 4 km straight. How far is he from the starting point?
A)12 km B)8 km
C)10 km D)18 km

W Ay gfdor 1 3R 4 et worar &1 Y 95 a1 3 Haar & 3 @Y 6 el Torar & 98 R & o IR
Aqsar & AR MY 4 el Toar 31 a8 IR g ¥ fhael g W e?

A)12 IEx=l) B)8 oY
C)10 fer D)18 e
Answer Key : C Your Response : C (Correct)

Question No. 30

How many electrons are there in one Coloumb of charge?

A)625 x 102 electrons B)0.625 x 103 electrons
C)6.25 x 108 electrons D)62.5 x 103 electrons

Th orre AT F Pt goagia gl 87

A)625 x 108 gorFerT B)0.625 x 103 el
C)6.25 x 10" soreeia D)62.5 x 10" oreelaT

Answer Key: C Your Response: C (Correct)

Question No. 31
If 20 Coulombs of charge passes a point in a circuit in 1 second, what is the value of the current flowing?
A)20 Ampere B)5 Ampere
C)10 Ampere D)15 Ampere

IfE vw aftayr F Rl fig & 1 Ads 7 20 FART HAY IERAT §, A IHH yaIRd URT F AW AT e

A)20 TP B)5 TlFRIX
C)10 TR D)15 TR
Answer Key : A Your Response : Not Answered

Question No. 32
Two pipes P and Q can fill a tank in 40 minutes and 30 minutes respectively. Both pipes are opened
simultaneously and after 10 minutes pipe Q is closed. In what time after this will the tank get filled up?
A)16 minutes 40 seconds B)16 minutes

C)15 minutes D)15 minutes 20 seconds

ar uisy P 3R Q U &R @ A 40 Aae 3R 30 e & o uea €1 2T 9By v Iy @i A § 3R
10 fAsie & a1 939 Q F &g X AT ST §1 369F a5 rasr ¥#7g & &&F W Swem?

A)16 TAaic 40 J5s B)16 &=
C)15 fAae D)15 fAelc 20 A3
Answer Key : A Your Response: A (Correct)

Question No. 33
With which of the following sports is Manpreet Singh associated?

Top



A)Badminton B)Tennis
C) Hockey D)Football

ANd e P § ¥ F9 @9 o g&faq &2

A)dsfHe B)fow
C)gidr D) il
Answer Key : C Your Response : D (Wrong)

Question No. 34
What is the total number of members nominated by the President to the Lok Sabha and the Rajya Sabha?
A)12 B)18
C)14 D)16

szl GarT dihast IR ToTTe T F Aeldld Gl B oI HEAT v gl 82

A)12 B)18
C)14 D)16
Answer Key : C Your Response : C (Correct)

Question No. 35
Who among the following discovered an Earth-sized planet, HD 21749b using Transiting Exoplanet Survey
Satellite in 20197
A)NASA B)APSCO
C)ACAE D)ISRO

fArfaf@a & @ fraer 2019 # gl vaiveme @ Aeaise &1 3UANT &I, gt & SR & Th 76, HD
21749b #r @t #ir?

A)NASA B)APSCO
C)ACAE D)ISRO
Answer Key : A Your Response : Not Answered

Question No. 36
Find the area of the card board that is required to make a box of size 10 cm x 8 cm x 4 cm.
A)412 cm? B)388 cm?
C)304 cm? D)488 cm?

10 ¥ x 8 QAT x 4 [ F1 9T T F AT HTWIF I F ATBA AT FL

A) 412 9 & B) 388 Y “EreTeq2
€)304 9 “EFrex? D)488 T “Er#fiex?
Answer Key : C Your Response : C (Correct)

Question No. 37
If the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer gains 25%, then find the cost
of production of a table, if the retail price was Rs.1265.
A)Rs.800 B)Rs.750
C)Rs.850 D)Rs.900

%1265 & QU e Al TH A A 3G @I AT A, A WAr #1 10% Fr e gr g, M A
ST T 15% T ST QAT & U7 FeT fashalr T 25% hr AT el &



A)%.800 B)®.750
C)%.850 D)%.900
Answer Key : A Your Response : B (Wrong)

Question No. 38
Which of the following is a metalloid?

A)Zinc B)Copper

C)Germanium D)Aluminium

Prfafae ¥ ¥ Fa o suurg ¥

A)STEAT B ) diaT

SENGEE: DN E TR

Answer Key: C Your Response : C (Correct)

Question No. 39
In a certain code, 'gri chri' means 'brand new', 'gyp twoh' means 'very old', 'gri bur twoh' means 'old and new'
and 'chri deh twoh' means 'old brand car'. Which of the following codes denotes 'new car'?

A)twoh deh B)deh gyp
C)chri gri D)gri deh
T fARed gesmar #, 'gri chri' & Adeld 'brand new' §, 'gyp twoh' & Hdee 'very old' 8, 'gri bur twoh' #r

Adad 'old and new' 3 'chri deh twoh' & #ae« 'old brand car' g1 T=R@a & & s Adas 'new
car grem?

A)twoh deh B)deh gyp
C)chri gri D)gri deh
Answer Key : D Your Response : A (Wrong)

Question No. 40

How many triangles are there in the given figure?

A) B)
32 29
a7 P os

Top



& a1 smgfer 3 Rt Pt €7

A) B)
32 29
Q) 5m D)
27 25
Answer Key : A Your Response : B (Wrong)

Question No. 41
How many gold medals did India win in the Special Olympics Games 20197 MyEducatlonW| re

A)85 B)50
C)100 D)60

Ay e @« 2019 & ARd o Faa @l ggs Na?

A)85 B)50
€)100 D)60
Answer Key : A Your Response : Not Answered

Question No. 42
In how many years will a certain sum of money double itself at 5% Simple Interest?
A)18 B)15
C)22 D)20

fraa st F v AT oY 5% WruRer saer W W Fr QT g Srean?

A)18 B)15
C)22 D)20
Answer Key : D Your Response : D (Correct)

Question No. 43
There are three cans of milk containing 36 litres, 45 litres and 72 litres. Find the biggest measure that can
measure all these exactly.
A)9 litres B)8 litres
C)7 litres D)15 litres

36 @ex, 45 dMeX 3R 72 M A & g &F o BT €1 98 ¥a@ ) A9 A AfSw, FEd 57 qof A}
quierar AT ST W

A)9 FreX B)8 afrex
C)7 dex D)15 &ex
Answer Key : A Your Response : A (Correct)

Top
Question No. 44



In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some books are cars.
2) Some cars are boxes.

Conclusions:
|. Some books are boxes.
Il. All boxes are cars.

A)Both conclusions | and Il follow B)Only conclusion | follows

C)Only conclusion Il follows D)Neither conclusion | nor Il follows

39 W #, & FUer & A ar Tt AT ot §1 3w fawnd (o) 9ot S arfde v @ we@ 3ugea &
e

1) $& fFad, FR &

2) o N, d9 §

IGA-a N

. & frar, sfeq gl

Il. wafr dferm, R &1

A)elT fassy | 3R 11 3ugerd 2 B)&der folseny | 3uzard g
C)hae fashd Il 3ugea &1 D) ar SRS | a1 & 1l 39hea B
Answer Key : D Your Response : B (Wrong)

Question No. 45
Sum of ages of father and son is 8 years more than the age of mother. Son was born when the mother was
22 years. How old is the father?
A)36 years B)40 years
C)38 years D)30 years

ar 3 g7 $r 3y F der, A f 3G F 8 a¥ HWF § qF F FA F AT A A G 22 af oA Rar

& Iy et §7?

A)36 aF B)40 I«

C)38 a¥ D)30 a¥

Answer Key : D Your Response : D (Correct)

Question No. 46

Top



Choose from the alternatives the figure that best completes the

pattern given below.

MyEducationWire

A) B)

N Z
| s

few a1v Repedt & @ 37 3l g+, S A Re av Yoo & g =
gl

A) 3 B)
C) D)
Answer Key: C Your Response : C (Correct)

Question No. 47

Choose from the alternatives the figure that best completes the

N7

pattern given below.

%

Top



A)

?

2\
S\

B)

7775
%

W

few a1v Reedt & @ 37 3l g4, S A e av Yo FF Q@ =

gl

A)

O

3/10

B)

B)

D)

101/10

Top



91/101 2
MyEducationWire
Q) D)
3/10 101/10
Answer Key : B Your Response : B (Correct)

Question No. 49
Simple epithelium is-

A) Two cell thick B)AII of the options

C)One cell thick D)Two to three cell thick

WA el g 81

A)EY HITAHT & et HET B)SE It

C)us HIfI=T & SeX AT D)ar & T FRITHT & SaT AT
Answer Key : C Your Response : Not Answered

Question No. 50
What is the normal pulse rate of humans?
A)2 beats per second B)80-90 beats per minute
C)97 beats per minute D)70-80 beats per minute

AT i WATT FeA T (ToH ) F1 872

A)2 @ ufy ass B)80-90 ¢ ufa e
C)97 & wia f&ae D)70-80 se wfa fAae
Answer Key : D Your Response : D (Correct)

Question No. 51
Which of the following is known as 'Dry ice?'
A)Liquid carbon dioxide B)Solid carbon dioxide

C)Carbon monoxide D)Gaseous carbon dioxide

fArfaf@d & @ 58 ' 9% & §9 F F1 S 82

A)gd FlasT SEAHTFATSS B)3MT sl SIS3iTFaTSs
C)FEa AlATEAESS D) e SS3iTFaEs
Answer Key : B Your Response : B (Correct)

uestion No. 52

Which element has the greatest tendency to attract electrons?

A)Boron B)Fluorine
C) Sulphur D)lron
i # ¥ fre aca # saaciat # IrHEa = B vafer weiftw ddr 32 Top

AYSRT B) weiet



C)Hem D) 3{TIRAT

Answer Key : B Your Response : B (Correct)

Question No. 53
The variance of 5 values is 16. If each value is doubled, find the standard deviation of the new value.

A B)16 MyEducationWire
C)10 Dy

5 A& #T fawersT 16 ¥ I 9w AT ST g AT, A AT AT FT AT Fee(standard deviation) AT
I

A)8 B)16
C)10 D)4
Answer Key : A Your Response : Not Answered

Question No. 54
The sum of the digits of a two-digit number is 15 and the difference between the digits is 3. What is the two-
digit number?
A)96 B)78
C)128 D)69

ar 37T arell TEAT & 3iT Fr AT 15 & 3 3wt 1 3iaw 3 1 Y 3 g T A Ao

A)96 B)78
C)128 D)69
Answer Key : A Your Response : A (Correct)

Question No. 55
What is the primary standard level for carbon monoxide for assuring air quality?
A)90 ppm B)1 ppm
C)9 ppm D)10 ppm

Ty #r U FRARTT T F AT FET AsiEes # aufAs A T e 87

A)90 ppm B)1 ppm
C)9 ppm D)10 ppm
Answer Key: C Your Response : Not Answered

Question No. 56
Pellagra is caused through the deficiency of-

A)Ascorbic acid B)Niacin

C)Riboflavin D)Folic acid

LED) & FH F FROT g

A)uraitas Thas B) faanfaa

C)usavFalfdet D)wifer uids

Answer Key : B Your Response : B (Correct)

Question No. 57
Two motorists travelling in opposite directions meet at some point in between. After this they take 9 and 16
hours to reach their respective destinations. What is the ratio of their speeds?
A)5:3 B)5:4

Top



C¥:.7 D)4:3

faodia feem3it F amr Fer g & AR Tew §9 F B g W PAed §) sEF 9 3 39 sided § e
o TgTe H FAM: 9 3N 16 € WA &1 3R el HT HIAT T 87

A)5:3 B)5:4
C)4:7 D)4:3
Answer Key : D Your Response : D (Correct)

Question No. 58
Find the ODD one out from the given options.

A)Driving B)Diving

C)Sailing D)Swimming

R T Reweat 3 ¥ 3T F G

NESEL B) M@y

C)Arpre D)eRTeT

Answer Key : A Your Response : A (Correct)

Question No. 59

Choose the alternative that best replaces the question mark(?) in the

given figure.
00
000
000
QDO
A)4 B)6
C) D)
8 T

30 deT & T80 *, A HHid F 7 BEd (?) & TT W @
= % for wafeas s9gea &

200

000
900
000

A) B)

Top



Answer Key : A Your Response : A (Correct)

Question No. 60
An atom has a mass number of 23 and atomic number 11. The number of protons is-
A)11 B)23
C)12 D)22

T GTAI] T ged A HEdr 23 3R o] A 11§ ekt B §edr Ad il

M1 B)23
012 D)22
Answer Key : A Your Response : C (Wrong)

Question No. 61
If 54321A is divisible by 9, then find the value of 'A'.
A)2 B)0
C)3 D)4

Ife 54321A, 9 ¥ QST &, O 'A' &1 A AT AT

A)2 B)O
)3 D)4
Answer Key : C Your Response: C (Correct)

Question No. 62
Find the wrong number in the given series.

246, 232, 220, 204, 190
A)220 B)246
C)190 D)204

& Ry Aol F eI T A

246, 232, 220, 204, 190

A)220 B)246
C)190 D)204
Answer Key : A Your Response : Not Answered

Question No. 63
Which of the following is the most abundant source of iron?
A)Eggs B)Green vegetables
C)Milk D)Beans

frafaf@d F & Fia &1 IRRT F71 ¥ T AT §7?
A) 3iS B)gdl Hiestar

Top



0Ty

Answer Key : B

D)wiorar

Your Response : D (Wrong)

Question No. 64

A pipe can fill a cistern in 20 minutes, but an outlet can empty it in 28 minutes. When both the pipes are

opened, in what time is the cistern filled?
A)96 minutes
C)56 minutes

B)72 minutes MyEducationWire

D)70 minutes

TF UIST Tk cohl i 20 Beie & R Toar &, afFa e P a3 5@ 28 Rac & @ell & IFar & 9

ST 91BY @' F1T &, af hr Fhae TET F T AeEi?

A)96 TRaT
C)56 fa=c

Answer Key : D

B)72 fAdc
D)70 f&se

Your Response : D (Correct)

Question No. 65

What is the force required to keep the object sliding on a surface with the same speed?

A)Sliding friction
C)Rolling friction

B)Static friction

D)Contact friction

TRl avg 1 Tl T W FA a1fd & Rhaerd T & T fhe aor fr Iraegendr gl 87

A)ad asor
C e (@fFe) mior

Answer Key : A

B)Tdfae avur
D)Eus ayor

Your Response : Not Answered

Question No. 66

Choose the alternative that best replaces the question mark(?) in the

given figure.
A) 4
C)
5

B)

D)

Top



38 fahed &1 990 F, A FFT F yF Fed (7) F WE W

e % T wafeaw 39gea

O 0 O MyEducationWire
000
000

A) B)

4 3
0 D)
5 6
Answer Key : A Your Response : A (Correct)

Question No. 67
E-shakti, a project on digitisation of self-help groups, was launched by-

A)RBI B)IMF

C)SEBI D)NABARD

I wErIar Fagl & Bfoedeor fr vw aidieen, safda @ EaNT o T I am|
A)RBI B)IMF

C)SEBI D)NABARD

Answer Key : D Your Response : D (Correct)

Question No. 68
What is the nature of the commonly used tooth paste?
A)Neutral B)Acidic
C)AIl of the options D)Basic

AT TG TUIE Y gy =1 872

A)IerH B) &
GRS E | D)&TmirT
Answer Key : D Your Response : B (Wrong)

Question No. 69
With which game is Bhagyashree Thipsay associated?

A)Swimming B)Chess

C)Football D)Badminton

s Ry fFw B ¥ wefea §2

A) T B) IS

C)Pp caid D)ss@wesT

Answer Key : B Your Response : Not Answered

Question No. 70
Perfect square numbers ending with '1' will have their square roots ending in . Top
A)9 only B)1 only




C)lor9 D)3

' ¥ FATCT P arelr qot e Weanst F aeEr oA 3w gram|
A)HId 9 B)&hdd 1

C)1319 D)3

Answer Key : C Your Response : C (Correct)

Question No. 71
Which political leader was popularly known as 'Chacha?'
A)Subhas Chandra Bose B)Jawaharlal Nehru
C)Bal Gangadhar Tilak D)Mahatma Gandhi

T TSeiar 3 ASHT §T ¥ IET Fege] Gaed ar Sar ar?

AFHY T I B) STaTe{dlTel Jg®
C)arel IR foersh D)#gTeAT Ml
Answer Key : B Your Response : B (Correct)

Question No. 72
Find the wrong number in the given series.

14, 20, 29, 39, 56, 74
A)39 B)29
C)20 D)14

& ey Aol F e dEr A

14, 20, 29, 39, 56, 74

A)39 B)29
0)20 D)14
Answer Key : A Your Response : A (Correct)

Question No. 73
How many odd days are there in the first 2000 years?
A)2 B4
C)3 D)0

gga 2000 auf F s v e 8 &7

A2 B)4
0)3 D)0
Answer Key : D Your Response : D (Correct)

Question No. 74

Top



In the given figure, the circle represents graduate, triangle represents
working people, and square represents post graduate. Which region
represents graduate and post graduate but not working people?

D|G\ C
A V B
A)DI B)
G
C) F D)
C
& 7 IFA A, I, F 1 fwfd aar &, Bee SRt & @wfhd w8,
AR @ef, WETae! # AT FaT @1 HlFar &7, AR 3R WD Hr
e &Xar ¢ foreg FHIRT HT 761
E
DG\ (
\& B B
A)D B)
G
C) F D)
C
Answer Key : C Your Response : C (Correct)

Question No. 75
P and Q can individually do some work in 60 and 75 days respectively. They started working together. But P
left after sometime. Q completed the work in another 30 days. In how many days after starting the work did P
leave?
A)24 B)20
C)25 D)32

P 3 Q I FE 3e@T e e 60 IR 75 R & w0 ¥ §1 I F WY FH T Y I ¢ AT
P A 36 ¥4 91 & B3 &A1 Q & 3R 30 Ral & & 1 qu fFan &3 g% @ sl & ag P A
F1 oI5 fear?

A)24 B)20

Top
)25 D)32



Answer Key : B Your Response : B (Correct)

Question No. 76 . .
Enzyme ptyalin is seen in - MyEducatlonW|re
A)Gastric juice B)Pancreatic juice
C) Intestinal juice D)Saliva
UAEH Trafee #F T ST g
A)STHIRIG I B) 3=
C)3 I+ D) R
Answer Key : D Your Response : Not Answered

Question No. 77
If (10.24 x 10.24) - (10.24 x A) + (0.24 x 0.24) is a perfect square, then find the value of 'A'.
A)0.24 B)0.36
C)0.48 D)0.12

afE (10.24 x 10.24) - (10.24 x A) + (0.24 x 0.24) quf @t §, @ 'A' & A Ad HfAC

A)0.24 B)0.36
C)0.48 D)0.12
Answer Key : C Your Response : Not Answered

Question No. 78
In which part of the human body would you find the smallest bone?
A)Knees B)Fingers
C)Ears D)Nose

AT RN & rE AT i FEd oY §53 et &7

AgTA B) 34Tl
C)pH D)H
Answer Key : C Your Response: C (Correct)

Question No. 79
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some bags are chocolates.
2) Some cakes are chocolates.

Conclusions:

I. All cakes being bags is a possibility.

Il. Some bags are cakes.

A)Neither conclusion | nor Il follows B)Only conclusion | follows

C)Both conclusions | and Il follow D)Only conclusion Il follows

Top



39 WA H, & FUA F 16 o sy R v §1 3@ swd (3) Fr g S arfde §9 @ g9 39gTT @i

FYUT:
1) o &1, Hidoe B

2) F Fh, dlhelc B

G R

|. T3l e HT A7 @Y Hr THGET §

Il. F& 7 Fh §

A)aT o s | A7 & 1l 39Tea B B)Faer sy | 3uzed B
C)arEr ey | 3N 1l 3T §1 D)¥Fad sy || 3uaerd g
Answer Key : B Your Response : C (Wrong)

Question No. 80
Profit percentage earned by selling an article for Rs.1920 is equal to the loss percentage when the article is
sold for Rs.1280. At what price should it be sold, if the profit is to be 30%?
A)Rs.2060 B)Rs.2040
C)Rs.2080 D)Rs.2000

forelt aFg T £.1920 & S W AT o F AR, 30 a&G P €.1280 F 99 W g5 @ F yfaRd &
SR g1 IR 30% omer wred FeT @, o 590 fohe Hew 9 &ur e @ifge?

A)%.2060 B)%.2040
C)%.2080 D)%.2000
Answer Key : C Your Response : C (Correct)

Question No. 81
What is the area of the sector covered by the hour-hand of a clock while moving from the number 12 to
number 3, if the length of the hour-hand is 7 cm?
A)70 cm? B)38.5 cm?
C)17 cm? D)35 cm?

12 @ 3 & o W U3 & Ge-arell gS ganr o A aar el w2 g, Afg ad-arelr g$ v warg 7 @
&2

A)70 I T B)38.5 T uAY
C)17 @37 Iy D)35 @31 AHAY
Answer Key : B Your Response : C (Wrong)

Question No. 82
What is the frequency range of ultrasound?

A)Between 20 Hz and 20 kHz B)Between 200 Hz and 2000Hz
C)Below 20 Hz D)Above 20 kHz
IHegHISS i Agicd IoT 4T 87

Top
A)20 Hz 3R 20 kHz S & B)200 Hz 37R 2000 Hz & &4



)20 Hz § &1 D)20 kHz & 3=

Answer Key : D Your Response : D (Correct)

Question No. 83
How much work is done when one Coulomb charge moves against a potential difference of 1 Volt?
A)1 Watt B)1 Ampere
C)1 Coulomb D)1 Joule

T HollA AT A 1 dlee F R W FAEGRT e W e s gem?

A)1 d@e B)1 tfFgwR
1P a9 DS o
Answer Key : D Your Response : A (Wrong)

Question No. 84
What is the important use of coke?
A)As an oxidising agent B)As a fuel for industrial boilers

C)As a fuel in domestic ovens D)As a reducing agent in the extraction of metals

TR & FIIW (FNF) FT Ageaqur 39T F=4T §?

A) AT 3fReRAE & w9 A B) 3ieaifiier afgeri & fav dus & ®9 &
CYeRT o ST $ut & w9 7 D)UTd 3T & fserdor sraaas fHEAE & w7 7
Answer Key : D Your Response : Not Answered

Question No. 85
Ages of father and son add up to 50. Six years back father's age was 6 more than thrice his son's age. What
will be father's age 6 years hence?
A)40 years B)42 years
C)50 years D)48 years

Rar 3tk g7 v 3y & Ihr 50 ¥ OF a¥ ggw far i g 9T A g F A 7 F 6 3O o) 6 af T

fAar $r amg F=r g

A)40 a¥ B)42 a¥

C)50 I D)48 a¥

Answer Key : B Your Response : B (Correct)

Question No. 86
Ten observations written in descending order are 45, 34, 32, 30, 2x - 13, x + 1, 17, 15, 14 and 8. If the median
is 24, then find 'X".
A)15 B)18
C)20 D)12

I A F O 91T a3 9syor 45, 34, 32, 30, 2x - 13, x + 1, 17, 15, 14, 8 #r '«Flmﬂw'I'(median) 24 &'
FT AT AT FLI

A)15 B)18
C)20 D)12
Answer Key: C Your Response : Not Answered

Question No. 87
Top



Find the missing number in the following series.

MyEducationWire
0,7, 26,63, 124, (...), 342
A)214 B)213
C)215 D)216
ffaf@a Aoft & sepafea dwar s fifow)
0, 7, 26, 63, 124, (..), 342
A)214 B)213
C)215 D)216
Answer Key: C Your Response : C (Correct)
Question No. 88
Leukoderma is a disease of the
A)Throat B)Skin
C)Eyes D)Liver
THISAT Y A B
AT B)caar
C)3tr@r D)IH d
Answer Key : B Your Response : B (Correct)

Question No. 89
In a shooting test, the probabilities of hitting the target are 1/2 for A, 2/3 for B and 3/4 for C. If they fire at the
same target, what is the probability that only one of them hits the target?
A)1/4 B)2/3
C)1/6 D)3/8

T i qdeT &, FE Hr e Hr wiAHAT A & AT 1/2, B % v 2/3 3k C & Qv 3/4 § e 9 v @
& g AT ST §, aF 397 ¥ Fad vk @ e g A S fr wiidear = g2

A)1/4 B)2/3
C)1/6 D)3/8
Answer Key : A Your Response : Not Answered

Question No. 90
Read the following information carefully and answer the question given below.

Seven executives— T, U, V, W, X, Y and Z are sitting along a circle facing the centre. T is between Z and W.
V is second to the right of W and is between U and Y. U is not the neighbour of X.

Who sits to the immediate right of U?

AW B)X
C)Y D)V

Top



A=fa@d ST & e @ g 3R T {U 910 g9 &1 3ar &)

AT HOHEA- T, U, V, W, X, Y 3R Z @ god & 9RT 3R Serfdega g 88 81T, Z 3R W & &g & dar
BV, STWHaS iR gl W WdT g, UAR Y & T 81 U, X & S0 & 7761 o B

U & 8 31§ AR HleT JoT 872

AW B)X
Q)Y D)V
Answer Key : D Your Response : D (Correct)

Question No. 91
A motorcyclist covers a distance of 192 km at a speed of 32 km/h. A car starts from the same place as the
motorcyclist 2.5 hours later, but covers the same distance 0.5 hour earlier. What is the ratio of the speed of
the car and the motorcycle?
A : 3 B)3 : 1
C)1:2 D)2 : 1

Th HleY Hisfhe dreek 192 Rt i gl 32 freli/Eer i =1 ¥ dF 1 &) AlcEEiha Iew & T §
25 € d1C UH HR A GG F ol Y FA B, AT 0.5 € UgA 37 gl F a W A §1 IR AN

HieTarsfed i Are FT AT F2T §?

A4 :3 B)3 : 1

01:2 D)2:1

Answer Key : D Your Response : D (Correct)

Question No. 92
Find the ODD one out from the given options.
A)BD B)CE
C)MN D)EG

few arw faeredt & & srdera 9o

A)BD B)CE
C)MN D)EG
Answer Key : C Your Response : C (Correct)

Question No. 93
Which of the following defence satellites of India was launched in 20197
A)GSAT-6A B)EMISAT
C)IRNSS-1I D)RESOURCESAT-2A

9Rd & Reaaf@a @ 3l & @ i @r 2019 & vafRa fFar = ar?

A)GSAT-6A B)EMISAT
C)IRNSS-11 D)RESOURCESAT-2A
Answer Key : B Your Response : Not Answered
Question No. 94 Top

Vulgar fractions have-



A)Their denominators other than 10, 100, 1000 etc. =~ B)Their denominators as powers of 10
C)No representation on the number line D)Their numerators greater than denominators

R Fieit F faefaf@a 7 & &l @ o grar 87
A)3aTh 8T 10, 100, 1000 37 &t St &1 &1 B)3steh 8¢ 10 & &7al & &9 # gid 8
C)3=¢ TEIT T W & 6T har 31 F@ar| D)3eTeh 3727 &7 ¥ &8 &l ¢ |

Answer Key : A Your Response : Not Answered

Question No. 95
Simplify: 6 + [2(1 + 2)]
A)1 B)9
C)2 D)3

WA FE 6 + [2(1 + 2)]

A1 B)9
C)2 D)3
Answer Key : A Your Response : A (Correct)

Question No. 96
Who among the following won gold medal at Makran Cup boxing in Iran, 2019?
A)Manish Kaushik B)Duryodhan Singh Negi
C)Deepak Singh D)Lalitha Prasad

feafaf@a & & fres 2019 &1 $Ua #F IS AT T FHFharel F FUT I Sfar?

A)FAY Fifrw B)G feret f A9l
C)éasw e D)afardar s
Answer Key: C Your Response : Not Answered

Question No. 97
The moon revolves around which celestial body?
A)Comet B)Star
C)Meteor D)Earth

<iT R e Ris & aRt AR g #2

A)Y (Hadg(Comet) B)dRT
C)3e=l(Meteor) D)T &dr
Answer Key : D Your Response : D (Correct)

Question No. 98
Two cones are such that the ratio of their volumes is 1 : 10 and ratio of their heights is 2 : 5. What is the ratio
of their base radii?
A)5:2 B)1:2
C)2:1 D)7 : 25

ar o W §, Oad AT 1 AHqard 1: 10 § AR 3R Fargat 1 Iard 2: 5 ¥ 3TR IR Bt #r
3eJdTd AT AT

A5 :2 B)I : 2
02:1 D)7 : 25

Top



Answer Key : B Your Response : B (Correct)

Question No. 99
In this question, a statement is given followed by three conclusions. Choose the conclusion(s) which best fit(s)

logically.

MyEducationWire

Statement:
H<I<Lz=ZA>Q

Conclusions:

LH<L

ILH=2L

n.Q<H

A)Only conclusion | is true B)Only conclusion Il is true

C)Only conclusion Ill is true D)Only conclusions Il and Il are true

3 W H, Uoh HYUA & dIG ol fshy few AT §| 31 forsepst A ged, S Arfeher w9 & gl 39 £

e

H=slI<L2A>Q

IGA=2 R
. H<L
II.L.H=L

. Q <H
A)Fad sy | 39agd Bl B)ahaer fasehy || 3uzerd g
C)¥del fasay Il 39dgd & D)ahaer sy 11 3R 11l 3ued g

Answer Key : A Your Response : A (Correct)

Question No. 100
If in a certain language 'KINDLE' is coded as 'ELDNIK', how is 'EXOTIC' coded in that language?
A)CITXOE B)CIXOTE
C)CITOXE D)CXOTLE

Ife wh AREdT Fesm # 'KINDLE' Y 'ELDNIK' To@r A1 &, 38 fesmsr # 'EXOTIC' & o foar IRem?
A)CITXOE B)CIXOTE

C)CITOXE D)CXOTLE

Answer Key: C Your Response: C (Correct) Top






